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Jr.Inter Chemistry Model Paper

I. Answer all the questions at one place in the same order. 10×2 = 20

1. Which indicator is used to detect the end point in the reaction between Cr2O7
-2 and Fe+2 in

the acidic medium ?

BÐ]l$Ï Ä¶æ* ]̄lMýS…ÌZ Cr2O7
-2, Fe+2Ë Ð]l$«§ýlÅ è̂lÆý‡Å A…™èlÅ ¼…§ýl$Ð]l# ]̄l$ VýS$Ç¢… è̂lyé°MìS AÐ]lçÜÆý‡OÐðl$ ]̄l

çÜ*_MýS H¨?
2. Give two examples of salts whose aqueous solutions are basic?

fË{§éÐ]l×æ…ÌZ „>Æý‡™éÓ°² {ç³§ýlÇØ… ó̂l HOÐðl¯é Æð‡…yýl$ ËÐ]l×êË ]̄l$ E§éçßæ Ç… è̂l…yìl?
3. Write the average composition of Portland cement ?

´ùÆŠætÌê…yŠæ íÜÐðl$…sŒæ çÜVýSr$ çÜ…çœ$ r¯é°² Æ>Ä¶æ$…yìl?
4. What are a) soda ash 

b) dead burnt plaster ?

a)  Ýùyé Ä¶æ*‹Ù (º*yìl§ýl)
b) ̂ èl ó̂lar$Ï M>Ía ]̄l ´ëÏçÜÏÆŠæË$ A…sôæ HÑ$sìæ?

5. What is the hybridization of Boron in diborane & Borazine?

Oyðl»ZÆó‡ Œ̄æ, »ZÆý‡Ogñæ Œ̄æËÌZ »ZÆ> Œ̄æ çÜ…MýSÈMýSÆý‡×ê°² ™ðlËç³…yìl?
6. What is lanthanide contraction? Give one of its consequences?

Ìê…£ýlŌ ðlyŠæ  çÜ…Mø è̂l… A…sôæ HÑ$sìæ? JMýS çœÍ™é°² Æ>Ä¶æ$…yìl ?
7. Define  

a) sink b) B.O.D?

a) íÜ…MŠæ b) B.O.D Ë¯]l$ °Æý‡Ó_… è̂l…yìl ?
8. Among N−3, O−2, F−1, Na+1, Mg+2 and Al+3

a) What is common in them ?

b) Arrange them in the increasing order of ionic radii?

N−3,O−2,F−1,Na+1,Mg+2,Al+3 ÌZÏ
a) JMóSÑ«§ýl…V> E ]̄l²¨ H…sìæ ?
b) AÄ¶æ*°MýS ÐéÅÝëÆý‡®… ò³ÇVóS {MýSÐ]l$…ÌZ AÐ]l$Æý‡a…yìl?

9. Even though both NH3 and NF3 are pyramidal, NH3 has higher dipole moment compared

to NF3.Why?

NH3, NF3 Ë$ Æð‡…yýl$ í³Æý‡Ñ$yýlÌŒæ °Æ>Ã×ê°² {ç³§ýlÇØçÜ$¢̄ ]l²ç³µsìæMîS NH3 «§ýl–Ð]l{¿êÐ]l$MýS… ÑË$Ð]l NF3

MýS…sôæ A«̈ MýS…. M>Æý‡×æÐól$…sìæ?
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10. what is compressibility factor? what is its value for a perfect gas?

çÜ…ï³yýlÅ™èl VýS$×æMýS… A…sôæ HÑ$sìæ? MýS_a™èlOÐðl$ ]̄l ÐéÄ¶æ¬Ð]l#MýS$ ©° ÑË$Ð]l G…™èl ?

II. Answer any six of the following. 6× 4 = 24

11. a) State Grahams law of diffusion.

b) If 150 ml carbon monoxide effused in 25 seconds, what volume of methane would effuse

in same time?

a) {V>çßæÐŒl$ ÐéÄ¶æ¬ ÐéÅç³ ]̄l °Ä¶æ$Ð]l*°² ™ðlËç³…yìl.
b) 25 òÜMýS ]̄lÏÌZ 150 Ñ$.Î.Ë M>Æý‡¾ Œ̄æ Ððl*¯éOMðSÞyŠæ ÐéÄ¶æ¬Ð]l# °çÜÞÆý‡×æ… ð̂l…§ýl$™èl$…¨. AÆ‡¬™ól 

A§ól çÜÐ]l$Ä¶æ$…ÌZ G…™èl ç³ÇÐ]l*×æ… E ]̄l² Ò$£ól Œ̄æ ÐéÄ¶æ¬Ð]l# °çÜÞÆý‡×æ… ð̂l…§ýl$™èl$…¨. 
12. Balance the following redox reactions by ion – electron method in basic Medium.

MnO4
–1

(aq)+I –(aq)→MnO2(s)+ I2(s)

MìS…¨ BMîSÞMýSÆý‡×æ, „ýSÄ¶æ$MýSÆý‡×æ è̂lÆý‡Å ]̄l$ AÄ¶æ* Œ̄æ GË{M>t̄ Œæ ç³§ýl®†ÌZ „>Æý‡ Ä¶æ* ]̄lMýS…ÌZ ™èl$ËÅ…
^ólÄ¶æ$…yìl?
MnO4

–1
(aq)+I –(aq)→MnO2(s)+ I2(s)

13. Enthalpies of formation of CO(g)  CO2(g), N2O(g) and N2O4(g) are –110, –393, 81 and

9.7kjmol–1 respectively. Find the value of ∆H for the reaction:

N2O4(g)+3CO(g) →N2O(g) +3CO2(g)

CO(Ðé), CO2(Ðé), N2O(Ðé)Ë çÜ…ÔóæÏçÙ×ZçÙ~… ÑË$Ð]lË$ Ð]lÆý‡$çÜV> &110, &393, 81, 9.7
MìS.go.Ððl*ÌŒæ–1. MìS…¨ è̂lÆý‡Å ∆ H ÑË$Ð]l ]̄l$ ÌñæMìSP… è̂l…yìl?
N2O4(Ðé)+3CO(Ðé) →N2O(Ðé) +3 CO2(Ðé)

14. a) All Lewis acids are not Bronsted acids. Explain.

b) The relation between Ksp and solubility(S) of a sparingly solu ble salt BaSO4.

a) A°² Ë*Æ‡¬‹Ü BÐ]l*ÏË$ {»ê Œ̄æòÜtyŠæ BÐ]l*ÏË$ M>Ð]l#. ÑÐ]lÇ… è̂l…yìl?
b) ́ ë„ìSMýS…V> MýSÇVóS ËÐ]l×æ… BaSO4, Ksp {§éÐ]l×îæÄ¶æ$™èl (S)Ë Ð]l$«§ýlÅ çÜ…º… «§é°² ™ðlËç³…yìl?

15. Write any two reducing and two oxidising properties of hydrogen peroxide?

Oòßæ{yøf Œ̄æ ò³Æ>OMðSÞyŠæ Æð‡…yýl$ „ýSÄ¶æ$MýSÆý‡×æ, BMîSÞMýSÆý‡×æ «§ýlÆ>ÃË ]̄l$ Æ>Ä¶æ$…yìl?
16. Explain borax bead test with a suitable examples ?

»ŸÆ>MŠæÞ ½yŠæ ç³È„ýS ]̄l$ ™èlW ]̄l E§é çßæÆý‡×æË™ø ÑÐ]lÇ… è̂l…yìl?
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17. Even though nitrogen in ammo nia is in sp3 hybridisation , the bond angle deviate from

109°281. Explain.

AÐðl*Ã°Ä¶æ*ÌZ° Ō ðl{sZf Œ̄æ sp3 çÜ…MýSÈ MýSÆý‡×æ…ÌZ ´ëÌŸȲ ]l²ç³µsìæMîS, º…«§ýlMø×æ… 109°281Ë ]̄l$…_
Ñ è̂lË ]̄l… ð̂l…¨…¨. ÑÐ]lÇ… è̂l…yìl?

18. Explain addition of HBr to pro pene with the ionic mechanism.

{´÷ï³¯ŒæOò³ HBr çÜ…MýSË ]̄l è̂lÆý‡Å ]̄l$ AÄ¶æ* °MŠæ Ððl$M>°fÐŒl$ §éÓÆ> ÑÐ]lÇ… è̂l…yìl?

III. Answer any two of the following. 2×8 = 16

19. a) Explain the salient features of quantum mechanical model of an atom.

b) State and explain Heisenberg's uncertainty principle?

a)  ç³Æý‡Ð]l*×æ$Ð]l# M>Ó…r… Ä¶æ*…{†MýS ]̄lÐ]lÊ¯éÌZ° Ð]l¬QÅ {ç³†´ë§ýl ]̄lË ]̄l$ Æ>Ä¶æ$…yìl?
b) OòßæçÜ Œ̄æºÆŠæY A°Õa™èl™èlÓ °Ä¶æ$Ð]l$… VýS$Ç…_ Æ>Ä¶æ$…yìl?

20. How do the following properties change in group - I and in the third period? Explain.

a) Atomic radius 

b) IE c) EA

d) Nature of oxides

MìS…¨ «§ýlÆ>ÃË$ {VýS*‹³&1ÌZ Ð]lÊyø ï³ÇÄ¶æ$yŠæËÌZ H Ñ«§ýl…V> Ð]l*Æý‡™éÄñæ* ÑÐ]lÇ… è̂l…yìl?
a) ç³Æý‡Ð]l*×æ$ ÐéÅÝëÆý‡®…
b) AÄ¶æ$±MýSÆý‡×æ Ô¶æMìS¢
c) GË{M>t̄ Œæ Aíœ°sìæ
d) AOMðSÞyŠæË çÜÓ¿êÐ]l…

21. Give two methods of preparation of acetylene. How does it react with the following and

give necessary equations:

a) Acetic acid b) Water 

c) Halogens d) HCl

e) Ammonical AgNO3 and Cu2Cl2

GíÜrÎ Œ̄æ ™èlÄ¶æ*Æý‡$ ó̂lõÜ Æð‡…yýl$ ç³§ýl® ™èl$Ë ]̄l$  ™ðlËç³…yìl? MìS…¨Ðésìæ™ø GíÜrÎ Œ̄æ fÇõ³ è̂lÆý‡ÅË ]̄l$
™èlW ]̄l çÜÒ$ MýSÆý‡×êË™ø ÑÐ]lÇ… è̂l…yìl ?
a) GíÜsìæMŠæ BÐ]l$Ï… b) ±Æý‡$
c) àÌZf¯ŒæË$ d) HCl 

e) AÐðl*Ã°MýSÌŒæ AgNO3,Cu2Cl2
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